Trigonometry - 7.1 - Law of Sines October 12, 2016

Assignments for the Week of Oct. 3

Read 6.6, 7.1
45 minutes of Khan Academy
Textbook assignment due Friday 10/14:

6.5 #25-55 odd Inverse Trig Functions
6.6 #1-21 odd Solving Trig Equations
#61-83 odd
tain:
Upcoming: MW"\'\TQ'O"M' er
7.1 Law of Sines . —
aS
7.2 Law of Cosines M ario \ ru'F

7.1 The Law of Sines

How do we solve oblique (not right) triangles?
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Derivation of the Law of Sines

: sin (136 -8) = ‘

Y &=BO T 180 cesB — conlBOsKE
O.cosB ""C-DS](\BZ
= sinB

o b snbsiaC.  siabsinC
sNC _ sind b _c
< S sin b S5inC

The Law of Sines

sin A sin B sinC

a b C

or

a b C

sin A sin B sinC
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ASS | The Prob\emontuc’rriomﬂe_

one Soludion - no solutigns:

o<b
&/\ /‘f

™ avb Ywo soltions: o<b
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+ B8, e=14, b=1
AN ASS = LawofSines
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7.1 The Law of Sines, continued

ASS — Problematic Triangle
14.B=32°,c=14,b =9
Casel:C = 55.5° 4 ~925°,a~=17
C,=IRO—C,

=180 —98%
2= 12457

S 1x0- 2" —I4T az9sin@d)
Ap = R0- 22—k a; 5in 97"

%7_ ~ 23 m
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